
 

 

 
Lawn Swing Assembly Instructions 

5’ Lawn Swing (M-100) & 4’ Lawn Swing (M-110) 
 

NOTE: Check contents and read directions carefully before assembly. Report missing or damaged items to 
Moon Valley customer service at 313-766-4950. Cracking or checking of logs is a natural part of the drying 
process of cedar and does not affect the structural integrity of the wood. 

 
Lawn Swing Components 

 
(1) Pre-Assembled Seat (A) 4’ or 5’ 
(1) Pre-Assembled Back (B) 4’ or 5’ 
(4) Swing Legs (C) 
(1) Swing Frame Top Pole (w/attached hooks) (D) 
(6) 35” Braces (E) 
(2) Swing Arm Assemblies (F) 
(2) Swing Hangers w/metal bail (G) 
(2) 3 ½” Lag Bolts 
(4) 5” Lag Bolts 
(12) 4” Lag Bolts 
(2) 7” Machine Bolts 
(8) 5/16” Washers 
(2) 5/16” Nuts 
(6) 2” Screws 
(14) ¼” Washers 

Swing Seat Assembly 
Step 1: Position and join swing seat assembly (A) with swing back assembly 
(B) using swing arm assembly (F) where two tenons of seat assembly insert 
into the forward most two holes of swing arm assembly and single tenon of 
swing back assembly inserts into rear most hole of swing arm assembly. Fully 
seat lower arm in place using rubber mallet. 
Step 2:  Install remaining swing arm assembly to opposite side of swing seat. 
Tap and fully seat arm into place. 
 
Step 3: Position seat back (B) at a comfortable angle and secure to the upper 
arm (F) with 3 ½” lag bolt and 1/4” washer. Repeat process for opposite side. 
 
 
 
 
 
Step 4: Attach swing hangers (G) to arm assemblies (F) using 5” lag bolts and 
5/16” washers.  Align pre-drilled holes on swing hanger and fasten in pre-
marked locations (11 ½” and 12 ½” from front of top and bottom arms). 

 
Step 5: Install 2” screw where all doweled 
ends are inserted, securing seat (A) 
(pictured) and seat back (B) to arm 
assemblies (F). 
 

A 

B 

C C 

D 

E 

F 

G 

F 

A 

B 

B 

F 

G 

F 

A 

Tools Needed: Rubber Mallet, Sockets, Wrench, 
Drill, Screwdriver, Tape Measure, Pencil 
 



 

 

 
Swing Frame Assembly 

 
Step 1: Lay swing legs (C) and top pole (D) on ground, with swing hooks 
facing downward. Using pre-drilled holes, install 7” machine bolts through 
legs (C) and top pole (D), using 5/16” washers under the head of the bolt and 
against the nut. Finger tighten only at this point. 
 
 
 
 
Step 2: From machine bolt, measure 32” down swing leg (C), and secure 
brace (E) using 4” lag bolts and ¼” washers. Repeat process for opposite 
side. 
 
 
 
 
 
 
Step 3: Stand frame upright and snug 7” machine bolts enough to allow 
frame to stand freely. Measure 24” down from top of swing leg (C), and 24” 
in from end of top pole (D).  At these points, use 4” lag bolts and ¼” 
washers to secure four remaining braces (E). Now, tighten 7” machine bolts 
firmly. 
 
 
 
Step 4: Make certain swing hooks (top pole) open outward (check 
periodically for looseness or wear). Hang swing seat onto hooks to complete 
assembly. 
 
Note: Extra hardware, after assembly, may indicate a problem and swing 
may not be safe to use. Double-check directions to ensure hardware is 
installed correctly. If problem persists, call Moon Valley customer service 
at 313-766-4950. 
 

 
Thank you for purchasing Moon Valley, we hope you enjoy your 
Lawn Swing. To view other Moon Valley products, please 
contact your local dealer or visit us online. 

 
 
 
 
 

Moon Valley Rustics  
4658 South Custer Rd, Monroe, MI 48161 

(313) 766-4950 
 www.moonvalleyrustics.com  

 

D 

C C 

C 

C 
E 

E 

C 

D 



 

 

Do not let children play with plastic bags. 


